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1．次のかけ算をしましょう。 
① ×2 １
7 2
＝ 2

1
×1
×27 1

 ② ×2 5
3 6
 ＝ 2 1×5
3×6 3

 
 
 
③ ×6 4
7 15

6＝
2
×4
×157 5

 ④ ×1 2
2 5
 1×2＝
　 1

2 1×5
 

 
 

⑤ ×5 6
9 7

2

3

5×6
9×7
＝  ⑥ ×9 15

10 26
9×15＝

3

10 2×26
 

 
２．次のかけ算をしましょう。 

① ×5 2
8 5

5＝
1
×2

1

8 4×51

 ② 2 3×
9 4

2＝
1
×3

1

9 3×4 2

  

 
③ 4 5×
5 6

4＝
2
×5

1

51×6 3

 ④ ×5 3
9 10
 5＝

1
×3

1

9 3×10 2

 
 

⑤ ×5 4
12 15

5＝
1
×4

1

12 3×15 3

 ⑥ ×8 15
21 28

8＝
2
×15

5

21 ×287 7

 

分数をかける計算 

真分数×真分数 
   年    組    番 

 
名前      

 

1＝
7

5
9
＝

8
35
＝ 1

5
＝

10
21
＝ 27

52
＝

1
4
＝ 1

6
＝

2
3
＝ 1

6
＝

1
9
＝ 10

49
＝


